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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Write an essay on the nature and changing scope of 

agriculture in context of the Indian Economy. 

Hkkjrh; vFkZO;oLFkk ds lUnHkZ esa d`f‛k dh izd`fr ,oa mlds 

cnyrs gq, egRo ij ,d fucU/k fyf[k,A 

2. Discuss the defects of marketing of agricultural 

produce in India and measures taken by government to 

solve it. 

Hkkjr esa d`f‛k mit ds foi.ku ds nks‛kksa dh foospuk dhft, 

,oa ljdkj }kjk fd;s x;s iz;klksa ij izdk’k Mkfy,A 

3. Critically examine the main elements of Agricultural 

Price Policy of India. 

Hkkjr dh d`f‛k ewY; uhfr ds eq[; rRoksa dk vkykspukRed 

ijh{k.k dhft,A 

4. What are the challenges before Indian Agriculture in 

context with WTO ? Discuss. 

fo’o O;kikj laxBu ds lUnHkZ esa Hkkjrh; d`f‛k ds le{k D;k 

pqukSfr;k¡ gaS \ foospuk dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Give arguments for and against mechanisation of 

Indian Agriculture. 

Hkkjrh; d`f‛k ds ;U=hdj.k ds i{k rFkk foi{k esa rdZ nhft,A 

2. Write a brief note on development of consolidation of 

agricultural holding in India. 

Hkkjr esa d`f‛k tksrksa dh pdcUnh ds fodkl ij ,d laf{kIr 

ys[k fyf[k,A 

3. Write a short note on medium and minor irrigation 

projects. 

e/;e ,oa NksVh flapkbZ ifj;kstukvksa ij ,d laf{kIr fVIi.kh 

fyf[k,A 

4. Role of Food Corporation of India and the public 

distribution system. 

Hkkjrh; [kk| fuxe rFkk lkoZtfud forj.k iz.kkyh dh 

HkwfedkA 

5. Obstacles in success of co&operative farming in India. 

Hkkjr esa lgdkjh d`f‛k dh lQyrk esa vojks/kA 

6. What do you understand by agriculture inputs ? 

d`f‛k vkxrksa ls vki D;k le>rs gSa \ 

7. Analyse the factors responsible for low agricultural 

productivity in India. 

Hkkjr esa d`f‛k dh fuEu mRikndrk ds fy;s mŸkjnk;h dkjdksa 

dk fo’ys‛k.k dhft,A 

8. Write a short note on co-operative credit. 

lgdkjh lk[k ij ,d laf{kIr fVIi.kh fyf[k,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Subsidy on fertilizers is provided by the state 

government. 

jklk;fud [kknksa ij lgk;rk jkT; ljdkj }kjk nh tkrh 

gSA 

2. The Kisan Credit Cards Scheme was introduced in 

1998-99 to facilitate short-term credit to farmers. 

fdlku ØsfMV dkMZ ;kstuk vYidky _.k lgk;rk iznku 

djus ds fy, 1998&99 ls ‘kq: dh x;hA 

3. Developed economies are more dependent on 

agriculture as compared to underdeveloped countries. 

vYifodflr ns’kksa dh rqyuk esa fodflr ns’k d`f‛k ij vf/kd 

fuHkZj gSaA 

4. Wheat, Barley and Gram is a group of Kharif Crops. 

xsgw¡] tkS rFkk puk [kjhQ Qlyksa dk lewg gSA 
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5. The share of agriculture in national income is 

persistently decling.  

jk‛Vªh; vk; esa d`f‛k dk fgLlk yxkrkj de gks jgk gSA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. In which crop „Green Revolution‟ was most successful ? 

(a) Potato 

(b) Wheat 

(c) Tea and Coffee 

(d) Maize 

fdl Qly esa ^gfjr Økafr* lcls vf/kd lQy jgh \ 

¼v½ vkyw 

¼c½ xsgw¡ 

¼l½ pk; o dkWQh 

¼n½ eDdk 

7. Under which five year plan agriculture registered 

negative growth ? 

(a) Third plan 

(b) Fifth plan 

(c) Seventh plan 

(d) First plan 

dkSu&lh iapo‛khZ; ;kstuk esa d`f‛k òf) nj _.kkRed jgh \ 

¼v½ rhljh ;kstuk 
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¼c½ ik¡poha ;kstuk 

¼l½ lkroha ;kstuk 

¼n½ igyh ;kstuk 

8. Mid-day Meal Scheme launched in : 

(a) 1994 

(b) 1995 

(c) 1996 

(d) 1997 

nksigj Hkkstu ;kstuk ‘kq: dh xbZ % 

¼v½ 1994 esa 

¼c½ 1995 esa 

¼l½ 1996 eas 

¼n½ 1997 esa 

9. Integrated Child Development Scheme is being 

implemented through one platform : 

(a) Sukanya Samridhi Yojana 

(b) Employment Yojana 

(c) Anganwadi 

(d) Scheme for Girl Child 

,dhd`r cky fodkl ;kstuk dk dk;kZUo;u ,d dsUnz ds 

ek/;e ls gqvk % 

¼v½ lqdU;k le`f) ;kstuk 

¼c½ jkstxkj ;kstuk 

¼l½ vk¡xuokM+h 

¼n½ xYlZ pkbYM ;kstuk 
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10. Agriculture Price Commission and Indian Food 

Corporation were constituted in : 

(a) 1960 

(b) 1965 

(c) 1966 

(d) 1969 

d`f‛k ewY; vk;ksx vkSj Hkkjrh; [kk| fuxe dc LFkkfir gq, 

Fks \ 

¼v½ 1960 esa 

¼c½ 1965 esa 

¼l½ 1966 esa 

¼n½ 1969 esa 
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